## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Approving American Recovery and Reinvestment Act (ARRA) of 2009 Funding for the Food Distribution Program on Indian Reservations (FDPIR) FY2010)

RESOLUTION NO. 10-360

1	WHEREAS, President Obama signed the American Recovery and Reinvestment Act (ARRA) of 200
2	(H.R 1) into law on February 17, 2009 as Public Law 111-5, which included about \$
3	million for costs relating to equipment upgrades and facility improvement needs fo
4	Food Distribution Programs on Indian Reservations (FDPIR); and
5	WHEREAS, the Tohono O'odham Food Distribution Program submitted their priorities as:
6	1. Food Distribution Program roof repair.
7	2. Replace heating and cooling units for the Food Distribution Program office an
8	warehouse delivery room.
9	3. Food Distribution program office space renovation for a kitchen to provide foo
10	demonstrations for nutrition education services.
11	WHEREAS, on July 02, 2010 the Tohono O'odham Food Distribution Program received the Lette
12	of Credit in the amount of \$55,000.00 to complete the FDP ARRA projects; and
13	WHEREAS, the ARRA project selections are based on approved priorities listing submitted to th
14	USDA Western Region office by each FDPIR; and
15	WHEREAS, the Executive Branch developed and obtained committee approval of the Foo
16	Distribution ARRA budget in the amount of \$55,000.00 for the three above mentione
17	priorities.
18	NOW, THEREFORE, BE IT RESOLVED by the Tohono O'odham Legislative Council that it hereb
19	approves acceptance of ARRA funds in the amount of \$55,000.00 for completion of th
20	three priorities for the Food Distribution Program.
21	BE IT FURTHER RESOLVED that the Food Distribution Program requests authorization to carr
22	forward these funds into FY2011 to complete this project; but no later than Decembe
23	31, 2010.
24	BE IT FINALLY RESOLVED that the Tohono O'odham Legislative Council hereby authorizes th
25	Chairperson and any designated official to expend and administer the budget a
26	attached provided that any amendments affecting the funds or funding level shall b
27	submitted for further prior approval by the Tohono O'odham Legislative Council.
28 29 30	

31

	RESOLUTION NO. <u>10-360</u> (Approving American Recovery and Reinvestment Act (ARRA) of 2009 Funding for the Food Distribution Program on Indian Reservations (FDPIR) FY2010) Page 2 of 3	ribution						
1		3 <sup>TH</sup> Dav						
2	2 of SEPTEMBER, 2010 at a meeting at which a quorum was present with a vote of 2.595.50	FOR: -0-						
3	3   AGAINST;-0-NOT VOTING; and [07] ABSENT, pursuant to the powers vested in the Council by	Article						
4		<b>Tohono</b>						
5		retary -						
6	, and the state of	934 (48						
8								
9								
10	TOTAL COUNTRY DE COUNT							
11								
12	Telesia Municipales							
13	Verlon M. Jose Legislative Chairman							
14	4							
15	1/100							
16	6							
17	7 ATTEST:							
18								
19								
20	Evonne Wilson, Legislative Secretary							
21	14 Jestember							
22	$\frac{2}{3} = \frac{1}{3} \operatorname{day of} \frac{\operatorname{Sup} \operatorname{cont}(u)}{\operatorname{day of}}, 2010.$							
23								
24 25	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham Nation on the							
26	day of <u>leftender</u> , 2010.  d Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham ion on the <u>fiday of september</u> , 2010 at <u>fiday of May of </u>							
27	unon his approval or unon his failure to sith a manual will be come effective							
28	The state of the s	ours of						
29								
30	I							
31								
32								
33	Televia Munch by							
33 34	Verlon M. Jose, Legislative Chairman							
35	5							
36	5							
37		- 1						
38	on the 14 day of System, 2010							
39								
40		- 1						
41 42								
43		1						
14								
45								
16								
17								

	RESOLUTION NO. <u>10-360</u> (Approving American Recovery and Reinvestment Act (ARRA) of 2009 Funding for the Food Distribution Program on Indian Reservations (FDPIR) FY2010)
	Page 3 of 3
1	Returned to the Legislative Secretary on the day of
2	Lystimbin, 2010, at 5:23 o'clock, p.M.
3 4	<u>32/00/10/100</u> , 2010, at <u>3.25</u> 0 clock, <u>4</u>
5	
6	Councillala
7	Evonne Wilson, Legislative Secretary
8	
9	
10	
11	
12 13	
14	
15	
16	
17	
18	
19	
20	
21	
22	
23	
24 25	
26	
27	
28	
29	
30	
31 32	
32 33	
34	
35	
36	
37	
38	
39	
40	
41	
42 43	
43 44	
45	
46	
47	
48 49	
49	

ACTION: APPROVING AMERICAN RECOVERY AND REINVESTMENT ACT (ARRA) OF 2009 FUNDING FOR THE FOOD

DISTRIBUTION PROGRAM ON INDIAN RESERVATIONS (FDPIR) FY2010

MOVED: COUNCILWOMAN SANDRA ORTEGA

SECOND: COUNCILWOMAN EVELYN JUAN MANUEL

DATE: SEPTEMBER 13, 2010

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 198.7	1. WAVALENE ROMERO (Nicholas Jose) 2. MARY LOPEZ	99.35	x x			X
SELLS 449.6	1. KIMBERLY LISTO	99.35	x			
	2. EVELYN B. JUAN MANUEL	224.80	X			
SCHUK TOAK 159.0	1. FRANCES B. CONDE (Absent) (Fredrick Jose) (Present)	79.50	x			
139.0	2. LINDA PARLEY (Agnes Joaquin)	79.50	X			
SAN XAVIER	1. FELICIA NUÑEZ	102.35	х			
204.7	2. OLIVIA VILLEGAS-LISTON (Absent) (Eugene Enis) (Present)	102.35	X			X
SAN LUCY	1. LORRAINE EILER	93.55	x			- 13 13 13 13
187.1	2. GLORIA RAMIREZ	93.55	X			x
PISINEMO	1. CHESTER ANTONE (Tony Murrietta)	92.25	X			
184.5	2. EDWARD MANUEL (Gerald Fayuant)	92.25	X	i		
HICKIWAN	1. MICHELLE ORTEGA	87.25	х			X
174.5	2. SANDRA ORTEGA	87.25	X			
GU VO	1. GRACE MANUEL	103.15	X			X
206.3	2. PAMELA ANGHILL (Angela Ortiz)	103.15	X			
GU ACHI	1. TIMOTHY L. JOAQUIN	115.05	х			
230.1	2. CYNTHIA E. MANUEL	115.05	x			X
CHUKUT KUK	1. ETHEL GARCIA (Sara Mae Williams)	138.50	X			
277.0	2. VERLON M. JOSE ( )	138.50	х			X
BABOQUIVARI	1. FRANCES MIGUEL (Absent)	162.0	Х			
324.0	(Roberta Harvey) (Present) 2. FRANCES G. ANTONE (Absent) (Vernon Smith) (Present)	162.0	x			
	TOTAL	2,595.50	2,595.50	-0-	-0-	[07]